TH2EE ABROLR(XHBHERH)

R24.14 |HHR2EE HIRBEEREEHERT 2,650,000 [@RLLIZK =g
R24.14 |HF2EE AEBHRHISEEXRBERT 1,820,000 (@#RLLI7K R
R2.4.14 |[SH2EE RWEETAHTKEEE K02015Y U R—ILROTRFEREHZ 5,040,000 (#HILEH T =g
R2414 |SH2EE AWEETAHTKEEE Kr02025 FTKEKESTEBET 1,570,000 (#RFKE D HTILFE 52— =g
R24.14 |HHR2EE AWMBETAHTKESEE Kr02035ERERAERREFRT 618,000 |(BHILARYTRA— EEMERE| 154
R2527 |SH2EE £EEHOABRZALBSEEEEERER 1,550,000 |&DAEE L KHE _EF T =g
R2527 |SH2EE AWEB/NFREESERFIE - ERFGARBFER 542,000 |(&)FKE 3£ R HF =g
R2527 |[HH2EE RAWB/NEREBAERRITEFER 14,200,000 (#H/MARERET—HRIZE LT ETHRT =g
R26.19 [HH2EE EHEFRF=7REMBAMAERFES 2,568,000 |(&)RX B H R BE =2
R26.19 |HH2EE BRRFNILEETERERBRT 4,400,000 |HRIFFI>HILAUE =2
R26.19 |HH2EE AMBEAHTKERE 02025 R (BB XHBEHR 600,000 |#=AKE%EHBHEAT 4
R26.19 |RF2EE MEEHRAMIAERVELEBER 1,830,000 |#R& BB RIEERET =g
R26.19 (HH2EE MEEMYEEEBER 2,146,000 |Hy% B MM A %
R2.7.14 |H¥2EE KEBSEBHASHRIFHERR 1,300,000 |#&)EE7RIEHE =g
R2828 |HHF2EE AWMBETAESHEEFE EAX-EERARHBERT 7,245,000 |4/ \INEZ EREHE AT =g
R2828 |HF2EE AWMBETAEESHIEERX MERERTEHRTR 2,200,000 |#I0E HFER—)2T =E2
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TH2FE ALBROANR (XHBHERT)

R2.102 |HF2EE A BETMEEHICXEL 2 T2 VRIEXB R 1,080,000 |11 3% fiw 47 £ = T =g
R2.1027 |HF2&E ABRRETAMERERFRHER 5,086,000 R H HF#MHEE =g
R2.1027 |HF2EE #HEEFLRI SV IFBEAERNERER 1,550,000 |(&)#4 H 4k E] B =g
R2.10.27 |HH2GFE #H/BEBABERREBER 1,130,000 @)Lk R4
R2.1027 |HIEE BIMEAREMANERREEBRERR 460,000 |ERILLIZK B4
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